

845 West FM 407 Argyle, TX 76226

Date	11/4/2019				
Estimata	George Severe				
Estimate	george@defendersupply.com				
Ву	(903) 564-5641				



Bill To	
Williamson Co TX PCT. 4 Constable	
Chief Deputy Brian Olson	
412 Vance Street	
Suite 3	
Taylor, Texas 76574	

Customer Contact	Brian Olson		
Customer Phone	512-352-4181		
Customer E-mail	bolson@wilco.org		
Estimate #	25061		

2020 Chevrolet Tahoe 9C1

Vehicle Base Color - Dark Blue

Description	Location	Qty.	Cost	Total
2020 Chevrolet Tahoe RWD 9C1 with EcoTec3 5.3-liter, Direct-Injection V8, 355 hp/383 pound-feet of torque, FlexFuel1 capability & Active Fuel Management, External Engine Oil Cooler, 660-CCA Primary Battery with Standard 730-CCA Isolated Auxiliary Battery, 170-Amp Alternator, Hydra-Matic 6L80 6-Speed Auto Overdrive Trans with Tow/Haul Mode, Rear Axle, 3.08 Ratio, Auxiliary Transmission Oil Cooler, Heavy Duty Locking Differential, Heavy-Duty Police-Rated Suspension, StabiliTrak Stability Control System, Engine Skid Plate, High Out-Put Alternator, High Capacity Air Cleaner, Power Windows / Door Locks, Power Heated Mirrors, Dual Climate Control, Front & Rear Air Conditioning, 6-Way Power Driver & Passenger Seats, 4.2" Diagonal Display with AM/FM stereo, CD player & SD Card Slot. OnStar with Bluetooth Connectivity, Rear-Vision Camera System, Tilt Steering, Cruise Control, Cloth Front & Vinyl Rear Seats, Heavy-Duty Vinyl Flooring, 140-mph Certified Speedometer & Driver Information Center, Compass, Outside Temperature, Projector-Beam Headlamps, Engine Hour Meter, Tilt-Adjustable Steering Column, Electric Power Steering, Intermittent Wet-Arm Wiper/Washers, Rear Wiper / Washer, Rear-Passenger Conversation Mirror, Remote Keyless Key FOB Entry, Rear Park Assist with Audible Warning, Heavy-Duty 4-wheel disc Antilock Brake System with Power Assist, V-Rated All Season Police Pursuit P265/60R17 Tires, 17" Steel Wheels with Bolt-on Center Caps, Full Size Matching Spare Tire with Inactive Tire Pressure Monitor, Front Tow Hooks, Driver's Side Spotlight. Purchased Through Holiday Chevrolet Using Tarrant County Cooperative Contract # 2019-014	Vehicle Description	1	31,051.00	31,051.00
Paint Color is Dark Blue Paint - G1M Blue Velvet Metallic				
Options G1M Blue Velvet Metallic \$ Included AMF - 6 Additional Key FOB's \$66.00 5HP - 6 Additional Keys \$41.00 BTV - Remote Start \$300.00 5T5 - Vinyl Rear Seat V76 Recovery Hooks Total - \$407.00				
Vehicle is Purchased Through Holiday Chevrolet (Johnson – Grayson Automotive) using The Tarrant County Cooperative Contract # 2019-014 - Make Payment to Holiday Chevrolet				
Vin# GM Order #'s				
Customer PO # Total Price is \$50,295.00 - Make Payment				
to Holiday Chevrolet	hiele and Engan		ot Total	

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 1

Total Vehicle Order Cost \$50,295.00



845 West FM 407 Argyle, TX 76226

Date	11/4/2019				
Estimata	George Severe				
Estimate	george@defendersupply.com				
Ву	(903) 564-5641				



Bill To
Williamson Co TX PCT. 4 Constable
Chief Deputy Brian Olson
412 Vance Street
Suite 3
Taylor, Texas 76574

Customer Contact	Brian Olson		
Customer Phone	512-352-4181		
Customer E-mail	bolson@wilco.org		
Estimate #	25061		

2020 Chevrolet Tahoe 9C1

Vehicle Base Color - Dark Blue

Description	Location	Qty.	Cost	Total
Vehicle titles should be in the name & address of: Williamson County				
Attn: Auditors Office				
710 S. Main St., Suite 301				
Georgetown, Texas 78626				
J. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.				
2 Year State Inspection Certificate		1	7.00	7.00
		1	7.00	7.00
Emergency Equipment is Durchesed Through Defender Cumply using				
Emergency Equipment is Purchased Through Defender Supply using The Tarrant County Cooperative Contract # 2019-181				
The Tarrant County Cooperative Contract # 2013-101				
Unity driver aids helegen enablight shoft handle and mount for a 2015.		1	300.74	300.74
Unity driver side halogen spotlight, shaft, handle and mount for a 2015+		1	300.74	300.74
Tahoe (LED replacement bulb sold separately) - (for Silverado 2500				
and above please include part #)				
2045 Tabaa aaraala with area root and area baldan Matical acation with		1	251.75	251.75
2015 Tahoe console with arm rest and cup holder. Vertical section with		1	351.75	351.75
7.5" of mounting space and 7" horizontal mounting space (including the				
4.5" cup holder)		1	1/2.75	1/0.75
Gamber Johnson Mongoose 9" Locking Slide Arm with 360 Degree Clevis		1	162.75	162.75
Gamber Johnson Mic Clip		2	8.40	16.80
Chevrolet Tahoe/Silverado USB/MP3/SD Card/12 Volt Relocation		1	7.11	7.11
Panel		1	/.11	/.11
Gamber Johnson Universal Computer Base Adapter Plate for Mounting		1	27.30	27.30
Laptops		1	27.30	27.30
3 Additional - 12Volt DC Heavy Duty Electrical Power Socket		3	3.85	11.55
w/moisture covers - Mounted on Right Side of Console		3	3.63	11.55
Compartment Light, Split Red/White Mounted in Cabin Ceiling Mount &		3	47.52	142.56
(2) on Rear Tailgate with 3-Way Switches		3	47.32	142.30
Streamlight SL-20L LED Flashlight - One Mounted on Side of Console		2	112.83	225.66
& the other in Rear Cargo Area		2	112.03	223.00
a the other mirror ourge risa				
Make & Model of Customer Supplied Police Radio - Motorola APX7500				
Is Customer Supplied Police Radio a One or Two Piece Unit - One -				
Hot all the Time.				
What is the Frequency of Customer Supplied Police Radio - 800MHz				
What is the i requestey of oustomer supplied i since readio - obolymiz				
Make & Model of Customer Supplied Lenten Denocenie Tourshipsel				
Make & Model of Customer Supplied Laptop - Panasonic Toughbook CF33				
Does the of Customer Supplied Laptop have Docking Capabilities - Yes				
Is the of Customer Supplied Laptop a No RF, Single RF or Dual RF -				
Dual RF				
Dual N				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 1

Total Vehicle Order Cost \$50,295.00



845 West FM 407 Argyle, TX 76226

Date	11/4/2019				
Estimata	George Severe				
Estimate	george@defendersupply.com				
Ву	(903) 564-5641				



Bill To
Williamson Co TX PCT. 4 Constable
Chief Deputy Brian Olson
412 Vance Street
Suite 3
Taylor, Texas 76574

Customer Contact	Brian Olson		
Customer Phone	512-352-4181		
Customer E-mail	bolson@wilco.org		
Estimate #	25061		

2020 Chevrolet Tahoe 9C1

Vehicle Base Color - Dark Blue

Description	Location	Qty.	Cost	Total
Does the of Customer Supplied Laptop have a built-in power supply - No				
Havis Docking Station with Dual Pass-Through Antenna connection for Panasonic Toughbook 33, 2-in-1 Laptop with Power Supply		1	911.87	911.87
Two Way 800 MHZ Radio Antenna & Coax Cable - Roof Mount		1	32.66	32.66
Last year the tech installed two antennas on the roof & the vehicle only needs one, a 800Mhz				
Note - Roof Antenna Placement:				
800 MhZ Antenna – Roof mounted between B-C pillars Bluetooth Antenna roof mounted on pass. side between A-B pillars Multi Purpose GPS Cradlepoint Antenna Roof mounted between B-C pillars				
Tech Please Pre-Wire to Console for Radio Power, Ground & Roof Antenna				
Note - Cradle Point Mounting Placement:				
On Units that have a prisoner partition, the Cradle Point will be Mounted on the Prisoner Partition right behind the Front Passenger Seat.				
On Units that do not have a prisoner partition, on the Cradle Point run cabling & roof antenna leads under the Front Passenger Seat leaving 3 to 4 feet of service lead in the wires please.				
CAT 6 Cables go in these locations: Blue Cable - CP to Dock White Cable- VPU (PC PORT) to Dock Red Cable - CP to VPU (LAN PORT)				
Federal Signal - Valor 51" lightbar only - 51" Valor, All 2-color except positions 15, 16, 25 & 26 (no interface module. Goes with FS SSP2000B or SSP3000B sirens)		1	1,980.00	1,980.00
Federal Signal - Smart Siren Platinum		1	990.52	990.52
Federal Signal - DynaMax 100W Speaker		1	177.82	177.82
Federal Signal - ES100 Speaker Bracket, Universal Bail - Mounted on Push Bumper		1	29.95	29.95

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 1

Total Vehicle Order Cost \$50,295.00



845 West FM 407 Argyle, TX 76226

Date	11/4/2019		
Estimata	George Severe		
Estimate By	george@defendersupply.com		
	(903) 564-5641		



Bill To
Williamson Co TX PCT. 4 Constable
Chief Deputy Brian Olson
412 Vance Street
Suite 3
Taylor, Texas 76574

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	
Estimate #	25061	

2020 Chevrolet Tahoe 9C1

Vehicle Base Color - Dark Blue

Description	Location	Qty.	Cost	Total
Federal Signal - Low Frequency Siren - Mounted on Push Bumper		1	407.52	407.52
Federal Signal - Rumbler Brackets for a 2015+ Chevrolet Tahoe 9C1		1	29.15	29.15
Federal Signal - Headlight Flasher for 2017 Chevrolet Tahoe 9C1		1	46.78	46.78
Federal Signal - Taillight Flasher for 2017+ Chevrolet Tahoe 9C1		1	66.00	66.00
Federal Signal PBX Series Push Bumper, Chevy Tahoe 2015- 2019		1	650.00	650.00
Federal Signal - PBX Series Push Bumper Four-Light top-channel for Chevy Tahoe and Ford F-150 bumpers, use with MPS600U or MPS620U lights		1	51.54	51.54
Endowl O'cont 40 LED L'ability of a Designation On lither of Manager of the		2	02.50	165.00
Federal Signal - 12 LED Lighthead in Red/White Splithead - Mounted in Front Grill		2	82.50	165.00
Federal Signal - 12 LED Lighthead in Blue/White Splithead - Mounted in Front Grill		2	82.50	165.00
III FIOIL GIIII				
Federal Signal - Dual Color and with 6 LEDs Corner Lights with In-Line		2	58.75	117.50
Flasher in Red/Blue - Mounted to the sides of the Push Bumper		_	50.75	117.00
SoundOff nLINE 72" Running Light w/Bracket Mount, Split Color -		2	400.00	800.00
Red/Blue LEDs for Running Board Mount (SOLD PER SIDE)				
Federal Signal - 12LED lighthead dual color red/blue - Mounted in Rear		4	89.475	357.90
Side Glass		7	07.473	337.70
Federal Signal - Surface Mount Bracket - KIT,L-BRKT, DUAL HD,LEFT		2	11.075	22.15
- Mounted in Rear Side Glass				
Follows O'const. ON O'const. Montes I light O'ch /A Archard Daylor		1	(7.6.00	(7.6.20
Federal Signal - CN Signal Master Light Stick (4 Amber/Red & 4 Amber/Blue) Mounted in Rear Window Cargo Area		1	676.28	676.28
Federal Signal - Universal Mounting bracket		1	29.15	29.15
Federal Signal # SLB-8SHRD 8 Head Shroud for CNSM or Latitude,		1	20.41	20.41
Signal Master				
			120.00	260.00
Federal Signal - 24LED Lighthead Dual Color Red/Blue - Surface Mounted Horizontal right beside Rear License Plate		2	130.00	260.00
Federal Signal - MPSM12-DL - Surface Mounted Light beside Rear		2	15.50	31.00
License Plate		2	13.50	31.00
Federal Signal - 12LED Lighthead Dual Color Red/Blue - Mounted on Bottom of Liftgate Lid		2	102.00	204.00
DOMONI OI LINGARE LIU				
Pro-Gard Recessed Prisoner Partition w/Center Slider - Includes				617.04
Recessed Panel & Lower Kick Panels for 2015+ Chevrolet Tahoe 9C1				017.01

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total

Quantity Ordered 1

Total Vehicle Order Cost \$50,295.00



845 West FM 407 Argyle, TX 76226

Date	11/4/2019		
Estimata	George Severe		
Estimate By	george@defendersupply.com		
	(903) 564-5641		



Bill To
Williamson Co TX PCT. 4 Constable
Chief Deputy Brian Olson
412 Vance Street
Suite 3
Taylor, Texas 76574

Customer Contact	Brian Olson	
Customer Phone	512-352-4181	
Customer E-mail	bolson@wilco.org	
Estimate #	25061	

2020 Chevrolet Tahoe 9C1

Vehicle Base Color - Dark Blue

Description	Location	Qty.	Cost	Total
Dual Weapon Lock, T-Rail, with Timer & Key - Mounted on Partition		1	325.00	325.00
Setina T-Rail Universal Lock, EoTech Bracket to Fit Oversize Locks to fit AR-15 optics		1	15.00	15.00
Pro-Gard Charcoal Grey ABS Standard Straight Back Transport Seat with Wire Mesh Screen for 2015+ Chevrolet Tahoe		1	849.59	849.59
Pro-Gard Pair of Rear Seat Window Bars for 2015+ Chevrolet Tahoe using Pro-Gard Door Panels (Must order part # PDP DP57T15)		1	169.95	169.95
Pro-Gard Pair of Rear ABS Door Panels for 2015+ Chevrolet Tahoe		1	98.00	98.00
Custom Reflective Vehicle Graphic Kit from Grafix Shoppe - Est # 04848		1	500.00	500.00
Ghost Graphics Reflective Chevrons for the Rear of Tahoe Bumpers by Mike Glass		1	50.00	50.00
Professional Installation of Graphics by Defender Supply		1	150.00	150.00
C-Tech Patrol Series Single Rear Drawer Tactical Storage Box - Measures 16" H x 47" W x 30" D		1	1,949.00	1,949.00
Defender Supply wiring harness, Top Hat Timer and Blue Sea power distribution block				435.00
Dealer Prep		1	130.00	130.00
Misc. Shop Supplies		1	30.00	30.00
Shipping of Above Emergency Parts for Upfit		1	150.00	150.00
Installation of Above Emergency Equipment & Customer Supplied Panasonic Video System, Police Radio, Police Radio Speaker and Radio Wiring Harness, Radar Unit, Cradle Point Wiring Harness & Cradle Point Antenna (Mounted in the Front on the Side of Console).		43	100.00	4,300.00
Customer to Pick Up Vehicle				
Sustainer to Florido Veriliale				

Final sale amount may be subject to state and local sales tax. PLEASE NOTE: Once this estimate has been approved, either by signature on this form, written approval referencing the estimate number or the issuance of purchase order, any changes or cancellations of parts made by the customer are subject to a 25% restocking fee. Any additional customer-requested parts/services will be added to the total amount of the sale.

Vehicle and Emergency Equipment Total		\$50,295.00
	Quantity Ordered	

Page 5

SIGNATURE